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2.2

111

10

67



68

L
1.1
1
11
A 4 5
English For a Changing World,
Blueprint, Trio Odyssey 6
6
1
100-300 (Harold
Madsen, 1983 : 89-90)
1.2 11
121
10
(Memory Span) (GA Miller,1956 ,2518:46)
7+ 2
122
(Content Words) (Nouns), (Verbs), (Adjectives)
4: 4: 2
(2541: 220-245)
1.2.3
121 1.2.2 60

English For a Changing World Blueprint Trio Odyssey



(2541: 220-245)

13

1.2
The Scooter Commutor Student
Weekly
Skateboard Scooter Drives Them Crazy
Look Japan
1.2 6 1

Prince William and the Media-the Story Begins

Skateboard Scooter Drives Them Crazy Look Japan
Barking

' The Olympic Ceremony

Anorexia Nervosa

If You Are Thinking About Suicide...Read This First

14



21

21.1

10

12 10

The Newbury House
Dictionary of American English 2000, Cambridge International Dictionary of English 1995,

BBC English Dictionary 1993, Longman Dictionary of Contemporary English 1991,

th
Oxford Advanced Learner' Dictionary of Current English 4 edition 1991,

Collin Cobuild: English Language Dictionary 1990 ( 147)
2.1.2
211
2
21.1
( 148)
2.1.3
11
( 150)
214
2.1.3

(Context Clues)

(Dolores Durkin, 1974: 372-

375) (Definition), (Synonym),



(Summary), (Simile), ' (Example),
(Appositive) (Antonym)
( 151
173)
2.2
3 ( )
221
1)
direction
weave

weave means to go or make a way by moving quickly and changing direction
especially to avoid hitting things

2)

tolerance means the ability to bear something painful or unpleasant

tolerance means willingness to accept behaviour and beliefs which
are different from your own, although you might
not agree with them

2.2.2

tolerance My tolerance of heat is considerably greater after having
lived in the Far East for a few years.
A rich girl like you cannot have a tolerance for being
very poor.

tolerance He has a tolerance for and an understanding of different

human nature.



72

The tolerance of strange behaviour is almost tradition in

Britain.

2.2.3

“ prices " “ costs “
...The scooter prices between 15,000 yen and 40,000 yen...
...The scooter costs between 15,000 yen and 40,000 yen...

224

Mr. Ninomiya who takes a role of a guard defends the scooter as ...
Mr. Ninomiya lwho disagrees with the criticism, defends the scooter as...

2.3

231
SCANR 1
(Joseph R Jenkins,Barbara Matlock, and Timothy A. Slocum, 1989:221)

2

2311

10

12

Webster’s New World Thesaurus 3th edition 1997, Longman Language
Activator 1997, Roget’s I+II : The New Thesaurus 1995, Reader's digest USE THE RIGHT
WORD: A Modern Guide to Synonyms and Related Words Longman Essential
Activator ( 152)
2.3.1.2 2

10



154)
23.1.3
3
!
1)
5 assure
guarantee
2) 2
...S0 does this woman. She is so serious that she has to be in hospital
because of excessive headaches...
...This woman, for example, is in serious condition and has to be in
hospital because of excessive headaches...
2.3.2
2321
10
( 153)
2. 3.2.2
10
155)
2.3.2.3
( )

73



60 2

10 2

12

SCANR
Jenkins,Barbara Metlock, and Timothy A. Slocum, 1989:221)
2

74

(Joseph R



75

10
12

( 156)

121 10

1.2.2

( 157)

This may be because pets helped these people relax so that they can
show their pent-up emotions.

This may be because pets helped these people relax by letting them
express pent-up emotions.

Smoke from petrol cars raises the ire of the environmentalist, so 1several
new types of car engine have already been developed that run on
different sources of power, like electricity and compressed natural gas.
Smoke and pollution from cars raises the ire of the environmentalist, so 1

several new types of car engine that run on different sources of power,
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like electricity and compressed natural gas have already been

developed.
5 ( .5/6 5/ 8) 75
1
(50 )
1
30 90-100
2
30 90-100
(
)
2 5 (502



2.1

SCANR

Jenkins,Barbara Matlock, and Timothy A. Slocum, 1989:221)

2

11

60

12

12.1

12.2

15

15

150)

(Joseph R

4:4:2
20

160)



78

Water is the basis of life which composes the greater part of the tissues of
all living things.

Water is the basis of life and composes the greater part of the tissues of
all living things.

So their daily routine are so differ from those of animals in other areas.

So their daily routine are very different from those of animals in other

areas.
4,

5( .5/6 5/8)

75 (Reliability)

20 (KR-20) 0.60
0.66
0 ( Level of Difficulty )
( Power of Discrimination )

0.20-0.80 0.20
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3 (Level of Difficulty)
(Power of Discrimination)
1

0.80
0.61-0.80
0.41-0.60 3
0.20-0.40 !

0.20 20 30

30 30
(Level of Difficulty) (Power of
Discrimination)

20 30

( - 2538: 301)

30 90-100



5( 52
93
(Power of Discrimination)
0.20-0.80
4
(Power of Discrimination)®
6
0.80TU
0.61-0.80 2
0.41-0.60 6
0.20-0.40 1
*0.20
30
2
0.22-0.65
(Reliability)
0.60

80

(Level of Difficulty)

0.20

(Level of Difficulty)

2

0.26-0.67

4
2
10
18
30
20 (KR-20)

0.86
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2.2

6 2
4 34 9
10
L 2539
017- 110
025
026
English For a Changing World, Blueprint, Trio

Odyssey

Practice in Comprehension 1Concentrate of Critical Reading
Strategies for Reading

2. 100-300
(Harold S.Madsen,1983 : 89 - 90)
1

10



Stress
Attention .customer!
Good Baking

Dinosaur
Harry Potter
Bicycle
Painting
Weight-loss Program
Computer

Raygor, 1985: 67)

82

3
(Alton L Raygor and Robin D.
3



(Literal Comprehension)

(Interpretative Comprehension)

(Applied Comprehension)

10
40 8

83



5 ) 5
5 5
1 3 ) 4
2 3 2 7
4 6 il
6 8 4 18
23 20 7 50
50 30 20 100

1)

84

10

10
15

25

32

100

My experience and several training courses would make me qualified to

work at you pool.

| have a lot of experiences and took several training courses. This would

make me qualified to work at your pool.



34

40

18

18

2) Stress Laughter

3

It is implied the passage that lead is...

a. heavy. . soft,

c. delicate. d. light.

It is implied in the passage that women on bicycle were...

a. being criticized. b. considered appropriate,
c. highly regarded. d. immoral.

4)

1

The writer might be...
a. alecturer. b. a poet.

c. a psychologist. d. a critic.

The writer might be...

a. an artist b. asinger

c. a politician d. an actor

5)
As usual, you can find this information...
You can find this information...

6)
You can find this information...
a. onthe label of a bottle of medicine
b. at the front of the box of medicine
c. on the label inside the box of medicine

d. atthe back of the box of medicine

85



You can find this information...

a. on a prescription on a label
C. on areceipt d. on a poster
6.
1 5( .5/2
91
0.60
0.85
Difficulty) (Power of Discrimination)

0.20-0.80

7
(Power of Discrimination”
0.80 -
0.61-0.80 5
0.41-0.60 17
0.20-0.40 22

0.20 6

50

(Level of Difficulty)

1

86

20 (KR-20)

(Level of

0.20

21

20

50



0.20-0.80

0.20 ! 27
13
10 3,4,
9, 10, 11, 18, 28, 29, 38, 46
40
6 4 34
8
8
1 3 3 10
2
3 3 8
L moran
1 1 2 3 10
2 2 3 1 6 15
3 4 4 1 9 25
4.
5 8 3 16 32
18 17 5 40
100

50 30 20 100



(Power of Discrimination)

0.20-0.80

9
(Power of Discrimination”®
g = :
0.61-0.80 20
0.41-0.60 15
0.20-0.40 5

0.20

40

40

0.21-0.52

20 (KR-20)

88

5 (.5/5 .5/ 8)
84 50
(Level of Difficulty)
0.20
(Level of Difficulty)
1
2
6
34
40
0.31-0.80
0.86



2
3
8
2544 915
3.1 1
18 2544
(50 )
1
2)
3)
4)

10

5) 5

.5/5

89

505
2 5/5

50

5 26
2544
.51 5
21 2544

1

20

10



3.2

. 5/5

3.3

. 5/5

3.4

. 5/5

11
12
13
14

90

7 .1 25 2544
29 2544
1 50

8 .51 16 2544
19 2544

2 3.2

1 2
50
9 51 26 2544
27 2544
1 50
(X) (D)



(X)

5
(One-Way Analysis of Variance)

(Post Hoc)

SPSS 9.05 FOR WINDOWS

( t-test)

91
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